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P-11

gr @ M7 - 11

Candidates have to do questions 31 to 90
EITHER from Part - II (Mathematics and
Science) OR from Part - III (Social Studies /

Social Science).

adsfiral wt e 31 F 90 T 7

a7 9T - 1

PART - 111/ QAT - 1

SOCIAL STUDIES / SOCIAL SCIENCE

Directions : Answer the following questions by
selecting the correct/most appropriate options.

3. As mentioned in the Chola
inscriptions, ‘Brahmadeya’ was gifted
land. To which one of the following
had it been gifted ?

(1) Temples

(2) Brahmanas

(3) Jaina institutions
(4) Schools

32.

33.

In the Seventh Century A.D. big
landlords or warrior chiefs in

different regions were known as :

(1) Maha-Samantas
(2) Amatya

(3) Mahamatya

(4) Samantas

Which one of the following dynasties
charged ‘Vetti’, the tax taken not in
cash, but in the form of forced labour ?

(1) The Cholas
(2) * The Guptas
(3) The Palas

(4) The Chalukyas

Who among the following presided
over the ‘diwani adalat’ (civil court), a
new system of justice, established in
the year 1772 under the British
administration ?

(1)  The Governors of the Presidencies

(2) The Governor-General

(3) The jurists from different religious
communities.

(4) . European District Collectors
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P-II
35.

36.

37.

38.

39.

Which one of the following statements
is correct about the Taiping Rebellion
(1850) in China ?

(1) The rebellion was against the
traditional religion of Christianity
practised in China.

The movement aimed to forge a
kingdom where there was no
ownership of private property and
no difference between social
classes.

This massive popular uprising
took place in the northern parts of
China.

The British and the French armed
forces operating in China did not
help the emperor of Qing dynasty
to defeat the rebellion.

(2)

3)
(C))
Which one of the following styles of

painting specifically depicted India as
a quaint land to be explored by

travelling British artists ?

(1) Mural painting

(2) Picturesque landscape painting
(3) Scroll painting

(4) Portrait painting

‘Hundru Falls’ is found in which one
of the following plateaus ? \

(1) East African Plateau

(2) Western Plateau of Australia

(3) Tibet Plateau

(4) Chhotanagpur Plateau of India

For every one degree of longitude the
local time changes by :

(1) 2 minutes

(2) 6 minutes

(3) | minute

(4) 4 minutes

Which one of the following planets
takes least time to complete one
rotation on its axis ?

(1) Mercury
(2) Earth
(3) Jupiter
(4) Neptune
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40. Which one of the following Island groups 40, P €9 woEl o o m O
is situated on the same latitude ? [HTT SR WW% ! .
(1) Bahamas and Srilanka (1) wwre g oA A
(2)  Baker Island and Caroline Islands @) FE I e ﬁ“
3) Ell;;:‘;:lesnon Islands and Cook 3) fyeroreA giq 3T ﬁ;:q
(4) Tonga Islands and Mauritius (“4) dmin o
Islands
41.  When it is 12 noon at London the local 41, e A F 12 ﬁ.t e
time at 15° east of London will be : lS‘"{éﬁwmm ’
(1)  10.00 am (1) 10 = W
(2)  11.00 am @ 11
(3) 01.00 pm (3) | T I
(4) 9.00am @) 9=

42. In which one of the following oceans 4. Prefafes Tear o ® A gel &

does the dw part of the earth lie ? | e e wrTRe &7
(1) TheAm.t:c Ocean (1) e TR
(2) The lndn.an Ocean ; Q) oz WETETTT
(3) The Pacnﬁ(? Ocean (3) W TR
(4) The Atlantic Ocean ” ) FETiE TR
43. The Sahyadris are popularly known = " 43 nfir st emvaet: ST ST
as 2
(1) Eastemn Ghats - (1) =
(2) Western Ghats (2) et o
(3) TheAravalis (3)
(4)  The Himalayas @) fererm
44, i‘\;Vl:icl: 0:1:‘ of the following statements 4. TrefarswitdsRarsemm it
correct :
(1) e wermrRty aRr T @
(1) The Oyashio ocean current is a 3
warm current while the Kurushio x;l T T avet (el
current is a cold current.
(2) The Brazilian and California @) wwtrE s S swit w
currents are warm currents. (She) T & |
(3) The Labrador and Gulf Stream B) TN R Terdm @ @ v
both are cold currents. (@) gRIE § |
(4) The Labrador Ocean current is a (4) R T e o el
cold current while the Gulf Stream U & wEhE TR T ()
is a warm current. g ¥ |
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45.  Which one of the following ocean 45. Ifl‘ﬂ,’ﬂ’mﬂ?‘l‘fl F1 g Ot faeme
circulations fs created by the strong W&w & & wRYT efeafas § |

gravitational pull exerted by the Sun farm mgTETTT uftEaToT @ st g £ 7

and the Moon on the earth’s surface? 7

(1) Ocean currents (1) HEEIT 4R

(2)  Tides (2) WW

(2)  Tsunami (3) '-T'ITHT

(4)  Waves (4) @

46. Find out the main feature of 46, Trafefas & ugen va=t @t qer favear

‘Westerlies’ from the following : Wﬁﬁh’l{ . . .

(1) They change their direction in (1) 3 fafe= T3 & e fean age

different seasons, wAE |

(2)  They blow permanently in east to (2) 4 =dt ®7 F @ F ufeey & AT

west direction. werel! @l & |

(3)  They blow from sea to land. (3) z‘mq;'i#mc-«rﬁ T T8 |

(4)  They arc permanent winds, (4) FAWREATEAE |

47.  Match the following two columns : 47, fr=fafas 21 Tt = e s
Oceanic

circulations Features mm m

i. Wave  a. Periodic rise and fall i 4 Wl‘ FT wEEE IS

- of water. B | 1 aﬁxﬁmr

ii. Tide b. A strong seismic wave . ey .. .

. Tsunami ¢. Up and  down ii. vEREHTE b T st et
movement of oceanic iy FHF |, c. HETEFRI STl ST
water frequently > IHAT A T |

iv. Current d. Stream of ‘water - jv.ERT d. WEWrHE  TaE W
flowing constantly on fifema  feemstt #
the ocean surfaceina = | frafa =0 & 979 a
definite direction. . o1 & 9a% |

”) il-a iii-b i< ivd \ y {1) ii-a iii-b i< iv-d

(2) id ii-a iii-b _ivc / (2) id ii-a iii-b iv-c

(3) ii< i i-a iv-b (3) iic iii-d i-a iv-b

(4) ii-b  i-a i< tv-d 4) ii-b i-a iii< ivd
48. Which one of the following is a correct

arrangement of different layers of the 48. E?o' bl HH:;:; WRP T g AGATSH

atmosphere starting from earth’s fafir= & Frfofem & @ wét

surface 7 T B E 7

(] Troposphere, Stratosphere, )

: Mesosphere, Thermosphere, () ’ ﬁ! i %, FEHSE,

Exosphere. SIS,

(2)  Thermosphere, Troposphere, (2) TAVSH, &WEUSE,  afeHvSH
Exosphere, Mesosphere, HETUE, GRS .
Stratosphere. '

(3)  Troposphere, Mesosphere, (3) &IYHUSH, WEWvSH, WHATIHUSH,
Stratosphere, Thermosphere, v, afedves
F-xosphere. '

(4)  Thermosphere, Stratosphere, (4) TIUHUSH, HACIIHUSE, HEAHUSH,
Mesosphere, Troposphere, #Uge, afgHvee
Exosphere.
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49.

51.

52.

53.

Which one of the following statements
about the Sahara Desert is correct ?

(1) Itisa type of cold desert.

(2) It once used to be a lush green
plain.

It is covered only with vast
streches of sands.

It is located in the continent of
Europe.

(3)
4

‘Humus’ is found in which one of the
following layers of the soil profile ?

(1) Top soil

(2) Weathered rock
(3) Parent rock

(4) Sub-soil

Which one of the following crops grows
best in well-drained loamy soil ?

(1) Coffee

(2) Cotton

(3) Tea

(4) Jute

Which ome from the following
measures is not considered as risk
reduction for industrial disasters ?

(1) Storage capacity of ' toxie
substances should be restncted
Pollution dispersion methods in
the industries  should be
strengthened.

Densely populated residential

.areas should be in the vicinity of
industrial areas.

Fire warning and handling system
should be improved.

€3]
3)
(4)

Viticulture is :

(1) breeding of fish in specially
constructed tanks and ponds.
cultivation of grapes.

commercial rearing of Silkworms.

growing of vegetables, flowers
and fruits for commercial use.

(2)
)
@

(32)
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561

57.

p-11
54. Which one of the following statements
about Mahajanapadas is correct 7

(1) Not all Mahajanapadas had a

capital city.

(2)  All the Rajas of a Mahajanapada
met together in assemblies called

sanghas to decide upon issues.

(3) The army in Mahajanapada was
maintained largely from the gifts

made by the locals.

(4) Each Mahajanapada was ruled not
by one, but thousands of rulers

together, each known as Raja.

About 1800 years ago, who among the
following composed the
Silappadikaram, a famous Tamil epic ?

(1)

Ilango

(2) Thiruvalluvar
(3) Nakkeerar
(4) Sattanar

The Buddha attained enlightenment at :

(1) Bodh Gaya
(2) Magadha
(3) Samath
(4) Varanasi

The ‘Ring wells’, excavated in the
earliest cities that were developed
about 2500 years ago, were used for :

(1) Worshipping

(2) Bathing

(3) Garbage dumping
(4) Irrigation
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58. Who among the following won
universal respect for constructing a
large reservoir called ‘Hauz-i-Sultani® ?
(1) Qutbuddin Aibak
(2)  Alauddin Khalji
(3) Firuz Shah Tughlug
(4) Ntutmish

59.

Which one of the following statements
about Martin Luther is correct ?

(1)

He encouraged the practice of
making donations to the church to
gain forgiveness for sins.

(2) Many Catholic Christian sects
trace their origins to his teachings.
(3) He felt that several practices in
Roman Protestant church went
against the teachings of the Bible.
(4) He translated the Bible into

German.

Consider the following two statements
A and B about the idea of ‘Three
Orders’ formulated in France in early
11™ century and choose the correct
answer :

A. The society was divided into three
classes: namely, those who prayed,
those who fought and those who
tilled the land.

. The division of society into three
orders was supported by the church
to consolidate its dominant role in
society.

(1)
(2)
3
“)

Both A and B are true.
A is false and B is true. [
Both A and B are false.

A is true and B is false.

|
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61.

62.

A student interviews Tsunami

survivors for a project in Geography.
This can be considered as a project

based on which one of the following
sources 7

(1)  Secondary source

(2) Hearsay

(3) Both primary and secondary
sources

(4) Primary source

Consider the following situation and
choose the most appropriate response :

A student comments in the class that
corruption is inevitable at the Panchayat
level. You would :

(1) demand that this comment be
ignored and instead the class
should focus on role of Panchayat
as metnioned in the textbook.
agree with the student: and
conclude the class with a critique
of the Panchayat.

ask questions in the class on how
an ideal Panchayat could be made.
dismiss it by saying they are too
young to know about this matter.

(2)

3)

4)

Choose the most suitable method for
developing concepts in Social Science

at the upper primary level.
to questions

(1) memorising answers
given in the textbook

(2) listing dominant features

(3) learning through a series of guided
questions

(4) learning through definitions
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64. Which one of the following conceptual 64. Th wE fow = 3 ﬂ'ﬂﬁ m,:g
areas is associated with skills in distance W ﬁﬁﬁ"ta AR
and direction representation ? HETRUHS @ & W
(1) Map reading (1) mwEreE g
(2) Diversity (2) fafr
(3)  Sustainable development (3) ww™ m
(4) Money and Market (4 TWEIER
IR H9F ® R
65. Choose from the following the most 65. Preffaw ¥ & w
appropriate statement that could St arnfeE ud TS wita e =
describe the subject Social and i ETREE
Political life. (1) T qReamsrait 3 FET T A 3 |
(1) It emphasizes the wuse of 2}  uE EROT 0 diEt WA S & |
definitions. @) At
(2) It encourages rote learning. (3) 9% awa Sia l & W
(3) It is related to real life situations. e :
(4) Itemphasises one correct answer. ) 7% T T TR Sy |
66. In order to introduce a Social Science 66. wrteE g firew =1 TR = &
topic, which of the following methods ﬁ‘nfﬁﬁlﬁlfbﬂ T ° - ot gaw
would be most appropriate ? afew gt 7
A.  Case Studies ® Wl g
B. Fictional Narratives G S ga
C. Discussions T Tang
D. Definitions ¥ ufiemsnd
(1) A,BandD (1) H@aAR"
(2 B,CandD (@ @Ry
(3) A ,CandD (3) TRy
(4) A,BandC 4 wEIRT
67. Story telling is an effective way to 67. wEerar e 3w =t W F
teach History as : WWTEyTet T ¥, ity
(1) it can be an effective tool of (1) T =T F v wEee o
evaluation. BEFa T |
(2) it creates curiosity & interest @) ¥ fomfemt f wfy v s
among the students. FTAAHFATY |
(3) it helps students to easily @) T AW ¥ T oo B d
memorize answers. ferenférat % werrar @ ¥
(4) it makes the textbook attractive. (4) T TS B S T L |
——— '!'- = e e




p-1l

68. Which one of the following activities is
most suitable for teaching the changes
in land-use pattern at the Upper
Primary Level ?

(1)  Exhibition
(2) Role play
(3)  Quiz

(4) Discussion

69. Consider the two exercises ‘A’ & ‘B’
and select which of the given choices
represent(s) an activity on historical
imagination.

A. You are a sailor who has just come
back from Barygaza. Narrate your
experience to your friend.

B. Trace on a map the Silk Route

adopted by the traders.
(1) Bis false
(2) A andB aretrue
(3) A and B are false
(4) Aistrue

Which one of the following statements

on Continuous and Comprehensive

Evaluation (CCE) is inappropriate ?

(1) It makes teaching learner-centred.

(2) It helps in identifying the learning
problems of students.

(3) It burdens the children.

(4) It assists in self-assessment,

71. NCF 2005 is of the opinion that
textbooks should be seen as a medium *

70.

(1) to inculcate the accepted values of
society. _

(2) to transact the = information
accepted by the dominant class.

(3) to pass the examination.

(4) of further inquiry

A Social Science teacher plans to
undertake a project on the lesson,
“Understanding Diversity”.

Select the most suitable method to be
used the teacher to initiate a
discussion on this task.

72.

(1) encourage students to think of
examples from their surroundings
and start a dialogue '

(2) provide written instructions to the
students on points for discussion

(3) encourage students to see projects
of their seniors and discuss

(4) provide reading material to the

students

i{

Scanned by CamScanner

(37

“.

69.

70.

71.

72.

X

Ioq ynafte T 9 4 IuaT wieea %
e % firer & fov Prafefam F 9
Har BraeTT TaR s IugE € ?
(1) w&eE

Q) i fete

3) FRe=

(4) aiteat

& Td @ g naral o Ee St | R
7 et | AT AT BRETS
HeqT & BEaTRAT U Y ?

% & o e §, S andt aforsT §
g e ¥ 1 e fm @
FaEl w1 aoi g |

@ U HEEE W SAWRE GRS
T e R

@ e

% AR @ AT Tel

(3) & AT IA T

4) FHE :

A U4 ANE gedime uy et

Ut o W F-1 SR § 7

(1) @ faEr ® Jear & oF Hiad
AR E

@) = T @ dEs H s
! UgT 1 g B € |

3)

“)

IE =dl I Sigl ST ¢ |
o - 1 WEae S € |
T Ugg=dl &l W WS (2005) W
foraw ¥ 6 wem: ﬂﬁt{&rma:)ma?
Y H 3T A= :
el H e &

(1) y%m
|
(2) VI o R Wiha i =t
T A & feu | bk
(3) e = St HT & e |
(4) fim S geae & o |

T WIS o= 1 e fafaar it
T W & OREEET @ # gt
FAETE | FEw shaa fafr & g Fifi

(1)
2)

et e ==t yer e ad |

(1) ToenfaEl #t a9 U & =R
st % e v e ol waES
mﬁuﬁﬁmagw%m '

(2) - fagalt W
e e = |

(3) forft st s s sl @t

RGN B 3@ H Wieaned wE
==t & |
(4) Toenaat =t v Qg WeH ST |




X
73. At the upper primary stage, Social

Science includes content from which

of the following subjects 7

(1) History, Political Science,
Geography and Psychology.

(2) Geography, Political Science,
Anthropology and Psychology.

(3) History, Geography, Economics
and Political Science.

(4) History, Geography, Political
Science and Philosophy.

74. Portfolios are an important tool of
assessment as :

(1) it enables teachers to make
generic observation on the
students.

(2) it provides cumulative record of
the growth of students.

(3) it is quick and easy to plan and
implement.

(4) it provides conclusive information
about the students. :

75. To teach the Partition of India

through an inquiry method, which one

. of the following methods would be
most suitable ? '

(1) collecting eyewitness accounts
through interviews/diseussions.

(2) holding a lecture on the freedom
struggle.

(3) _drawing a timeline of India’s
struggle for independence.

(4) namating the role of political
leaders.

76.

In Social Science, reflective teaching
is preferred to routine teaching

because :

(I) it is unresponsive to changing
circumstances. ' )

(2) it implies flexibility, analysis and
social awareness.

(3) itis anew idea hence, popular.

(4) itis guided by tradition and habit.
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77.

78.

79.

80.

81.

Which one of the following statements
IS correct about a representative
democracy ?
*(I)  Rules and Regulations are made
directly by the people.
(2) The decisions are authorised and
supervised by the elected members.
(3)  The rules are made by a group of
nobles.
4)

The decisions are taken by the
hereditary ruler.

Who from among the following

appoints the Secretary of Gram
Panchayat ?

(1)  Panchayat Samiti

(2) Zila Parishad

(3) Panchayat President

(4) Government

The two states involved in Cauvery
water dispute are :

(1)  Andhra Pradesh and Tamil Nadu
(2) Karnataka and Andhra Pradesh
(3) Karnataka and Tamil Nadu

(4) Karnataka and Kerala

Which one of the following statements
about the Chief Minister of a state is
correct ?
(1) She/He is
President.
(2) She/He appoints other ministers.
(3) The Chief Minister and: other
ministers do not have separate
offices. .
The Chief Minister is elected by
the. MLAs ~(Members of
Legislative Assembly) belon}ging
to the party winning a majority of
seats.

appointed by the

4

Which one of the following statements

about Weavers’ Cooperatives is
correct 7 ’
(1) These Cooperatives are not

provided any kind of support by
the government.

These Cooperatives reduce the role
of merchants and help weavers to
get a fair price for their cloth.
These Cooperatives only engage
in trade with private enterprises.
These Cooperatives are not nto
marketing  but  only mnto
production.

(2)

(3)
(4)
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Which one of the following statements

about the Rajya Sabha is correct ?

(1) It selects the executive.

(2) It represents the states of India in
the Parliament.

(3) It consists of 245 nominated
members.

(4) It is led by the Prime Minister.

The final interpreter of the
Constitution of India is :

(1) the Executive

(2) the Judiciary

(3) the citizens of India

(4) the Legislature

Civil laws deal with :

(1) any harm or injury to the rights of
individuals.

(2) disputes between states. _

(3) disputes between the Central
Government and a @ State
Government.

(4) conduct or acts that ‘the law
defines as offences.

Which one of the following statements
is incorrect about First Information
Report (FIR) ? '

(1)  The identity of the'accused person
and ‘witnesses if  known is
mentioned. _

(2) It states the name and address of
the complainant.

(3) The complainant can get a copy of

" the FIR by paying a prescribed

fee.

(4) It is compulsory to be registered
in case of a cognizable offence.

Who chaired the committee in 2005
that examined the social, economic
and educational status of the Muslims

in India ?

(1) P.K.Thungon
(2) D.S. Kothari
(3) R. Sachar

(4) B.P. Mandal
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Which one of the following methods

would be most appropriate for a

constructivist discussion on historical

monuments ?

(I) a question-answer chart on
monuments

(2) photographs of a school picnic to
a monument

(3) identifying a local monument and
narration of stories around it

(4) a collage of monuments with
labels

Choose the most suitable reason for

introducing class discussions on a

social science topic.

(1) It keeps students busy.

(2) It tests what students have leamt
from media.

(3) It enables students to relate tothe
topic and express themselves.

(4) It reduces the time teachers have
to speak.

Select the most _appropriate choice

from the following two statements A
and B :

What is the advantage of asking

questions in a Social Science elass 7
A It assesses students” understanding
of the concept and recall of ideas
discussed in amearlierelass.
B. It assesses how well new ideas have
been understood and ensures its
repeutwn in students’ own words.

(1) Bonly

(2) BothAandB

(3) Neither A nor B

(4) Aonly

Choose the  most appropriate

statement that  describes Social

Science.

(1) A study of individuals and their
achievements

(2) A study of relationships of people
in a context

(3) A study of physical matter

(4) A study of space and quantity
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